Suma de nombres decimals


1 a. 753.177 + 826.301 = _________ 

1 b. 454.14 + 0.55473 = _________ 

2 a. 40.5 + 705.46 = _________ 

2 b.969.401 + 369.8 = _________ 

3 a.91.24 + 555.217 = _________ 

3 b.125.7 + 183.4 = _________ 

4 a.966.5 + 835.94821 = _________ 

4 b.744.158 + 337.7 = _________ 

5 a.986.29 + 20.405 = _________ 

5 b.870.1377 + 42.74982 = _________ 

6 a.276.83472 +425.819=_________ 

6 b.854.2 + 191.28451 = _________ 

7 a.915.2 + 148.91987 = _________ 

7 b.735.89978 + 812.368 =________ 

